BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of SEPT-2018 Date: SEPT-2018

SESSION	: 2017-2018 CLASS : BE-E	Е		BRANG	CH :	ENGIN	EERIN	G			SEM	ESTER	/ TRIM	1ESTER	: N	IONCOL	LEGIA	ΛTE	MO	NTH OF EXA	M : S	EPT-2018
ROLL NO	NAME		EE4207(4) EE7210(2)		EE4203(3) EE7222(2)		EE6205(4) EE4201(3)		EE7204(2) MA1201(4)		EE82 EC32	()	EE5202(2) EC2001(3)		EE8204(2) -		EE8210(6)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.			i	
BE/25149/12	25149/12 AWADHESH KUMAR	U	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	4.0	0.00	
BE/23149/12	AWADHESH KUMAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0			i
BE/25195/12	DEEP ANMOL SINGH SODHI	U	F	0.0	С	15.0	С	20.0	С	10.0	С	10.0	С	10.0	С	10.0	С	30.0	125.0	29.0	4.31	
BE/23193/12	DEEP ANMOL SINGH SODHI	L	С	10.0	С	10.0	-	-	-	-	-	-	-	-	-	-	-	-	123.0	29.0	4.31	-
DE/25107/12	DANIAN WADAW	U	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	10.0	2 22	
BE/25197/12	RANJAN YADAV	L	-	-	-	-	F	0.0	С	20.0	С	20.0	F	0.0	-	-	-	-	40.0	18.0	2.22	-

EE4207(4) : DIGITAL SIGNAL PROCESSING EE7210(2) : MINOR PROJECT

EE4203(3) : ELECTRICAL MACHINE I EE7222(2) : ADVANCED POWER ELECTRONICS LAB

EE6205(4) : INDUSTRIAL DRIVES & CONTROL EE4201(3) : ELECTRICAL MEASUREMENT & INSTRUMENTATION

: POWER SYSTEM LAB EE7204(2) MA1201(4) : ENGINEERING MATHEMATICS

EE8202(2) : SIMULATION LAB EC3201(4) : DIGITAL ELECTRONICS

EE5202(2) : MICROPROCESSOR LAB EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING EE8204(2) : COMPREHENSIVE VIVA

EE8210(6) : MAJOR PROJECT

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Controller of Examinations

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: SEPT-2018

Reference: EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / MO/18 / 2017-2018

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	: 2017-2018	3		BRAN	CH :	ENGIN	EERIN	G			5	SEMEST	ER / TI	RIMEST	ER :	NONCO	DLLEGI	ATE	N	IONTH OF EX	AM : A	UG-2018
ROLL NO	NAME		EC2001(3)		CS2301(4)		EE3207(3)		EE4209(4)		EE5205(4)		EE5207(3)		EE6203(3)		EE6205(4)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25106/13	AMIT KUMAR BHARTI	U	-	-	-	-	-	-	-	-	С	20.0	-	-	-	-	-	-	20.0	4.0	5.00	
BE/23100/13	AWIT KOWAK BITAKTI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	3.00	-
DE/25124/12	ANIZALIZIMAD	U	С	15.0	С	20.0	С	15.0	С	20.0	С	20.0	С	15.0	С	15.0	С	20.0	140.0	20.0	5.00	-
BE/25134/13	ANKAJ KUMAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	140.0	28.0	5.00	

EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	-	:
CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE	-	:
EE3207(3)	: ELECTRICAL ENERGY GENERATION & CONTROL	-	:
EE4209(4)	: ENGINEERING ELECTROMAGNETICS	-	:
EE5205(4)	: POWER ELECTRONICS	-	:
EE5207(3)	: POWER SYSTEM – I	-	:
EE6203(3)	: POWER SYSTEM - II	-	:
EE6205(4)	: INDUSTRIAL DRIVES & CONTROL	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: SEPT-2018

Controller of Examinations

Reference: EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	: 2017-2018 CLASS : BE-EE	3		BRANG	CH :	ENGINE	ERING				SE	EMESTE	R / TRI	MESTEI	R : N	IONCOL	LEGIA	ГЕ	M	ONTH OF EXA	AM : A	.UG-2018
ROLL NO	DLL NO NAME		MA1201(4) EE3207(3)			MA2201(4) HU4001(3)		EE4201(3) EE4203(3)		EE5203(3) EE6205(4)		EE5207(3) EE3201(3)		CH2203(3) EC3201(4)		301(4) 203(3)	EC2001(3) EE4209(4)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.			<u> </u>	
BE/25043/14	ABHISHEK TATIJWAL	U	С	20.0	С	20.0	-	-	-	-		-		-					40.0	8.0	5.00	_
BE/23043/14	ABIIISHER TATIJWAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	8.0	3.00	
DE/25047/14	HTENDDA WINAAD MEENA	U	С	20.0	С	20.0	С	15.0	С	15.0	С	15.0	-	-	-	-	-	-	85.0	17.0	5.00	-
BE/25047/14	JITENDRA KUMAR MEENA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
DE/25002/14	DAMESH SDICH	U	-	-	С	20.0	С	15.0	-	-	-	-	С	15.0	С	20.0	С	15.0	150.0	20.0	5.00	
BE/25092/14	RAKESH SINGH	L	С	15.0	С	15.0	С	15.0	С	20.0	-	-	-	-	-	-	-	-	150.0	30.0	3.00	-
DE/25124/14	TACHERIALAM	U	-	-	-	-	С	15.0	F	0.0	С	15.0	-	-	С	20.0	-	-	120.0	20.0	1.00	
BE/25134/14	TASHKIL ALAM	L	-	-	С	15.0	-	-	-	-	С	15.0	С	20.0	F	0.0	С	20.0	120.0	30.0	4.00	-
DE/25160/14	DIWANGILBAIODIA	U	-	-	С	20.0	-	-	-	-	-	-	-	-	-	-	С	15.0	50.0	10.0	5.00	
BE/25169/14	DIVYANSH RAJORIA	L	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	50.0	10.0	5.00	-

: ELECTRICAL ENERGY GENERATION & CONTROL MA1201(4) : ENGINEERING MATHEMATICS EE3207(3)

MA2201(4) : ADVANCED ENGINEERING MATHEMATICS HU4001(3) : FOREIGN LANGUAGE (FRENCH) EE4201(3) : ELECTRICAL MEASUREMENT & INSTRUMENTATION EE4203(3) : ELECTRICAL MACHINÈ I EE5203(3) : ELECTRICAL MACHINES – II EE6205(4) : INDUSTRIAL DRIVES & CONTROL

EE5207(3) : POWER SYSTEM - I EE3201(3) : INTRODUCTION TO SYSTEM THEORY : ENVIRONMENTAL SCIENCE CH2203(3) EC3201(4) DIGITAL ELECTRONICS

CS2301(4) : FUNDAMENTALS OF DATA STRUCTURE EE6203(3) POWER SYSTEM - II

EE4209(4) EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING ENGINEERING ELECTROMAGNETICS

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: SEPT-2018

Reference: EXAM / JPP / BITIC / JAIPUR / BE-EE-NONCOLLEGIATE / (MO/18) / 2017-2018

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of AUG-2018

SESSION	: 2017-2018 CLASS : BE-EI	3		BRANCI	H : E	NGINEE	RING				SEM	ESTE	/ TRIM	ESTER	: N	ONCOL	LEGIAT	Έ	MO	ONTH OF EXA	M : A	UG-2018
ROLL NO	NAME	U L		201(4) 151(3)		201(4) 207(4)	EC2	001(3)	EE32	207(3)	EE52	05(4)	EE520	07(3)	EE62	03(3)	EE72	03(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DE/25120/14	PAPPALA ANMISH	U	C	20.0	С	20.0	F	0.0	С	15.0	F	0.0	F	0.0	F	0.0	F	0.0	55.0	30.0	1.83	
BE/23129/14	I AI I ALA ANWISII	L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	33.0	30.0	1.65	-
DE/25152/14	4 NALIN HARSH VARDHAN	U	-	-	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	25.0	7.0	5.00	-
BE/23133/14	NALIN HARSH VARDHAN	L	-	-	C	20.0	-	-	-	-	-	-	-	-	-	-	-	-	35.0			

MA1201(4) MA2201(4)	: ENGINEERING MATHEMATICS : ADVANCED ENGINEERING MATHEMATICS	MEE1151(3) EE4207(4)	: ADVANCED POWER ELECTRONICS : DIGITAL SIGNAL PROCESSING
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	-	:
EE3207(3)	: ELECTRICAL ENERGY GENERATION & CONTROL	-	:
EE5205(4)	: POWER ELECTRONICS	-	:
EE5207(3)	: POWER SYSTEM – I	-	:
EE6203(3)	: POWER SYSTEM - II	-	:
EE7203(3)	: SWITCHGEAR & PROTECTION	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.